h, FUNCIONS

A Babkx CCSS
Caleula el domine cl'a;;‘uf.s{:&s P.um.ous:
- g = 2 - Y= v

2.- M) =3t +19 2. - x) = 132
x> — 4 Bo- p) = ()

3, - P.(x) = 2

t
— 1.3 _ =2 A, - P({'-) -3
b- g() = be* = 5x? +2 .

5. - S(X):Bcosx A5. - 3(X):x3+si.wx

6. - Plx) = 3 — 4

6 - P =
. - l!(x) = l.os(x2 + 4)
3. - ﬂ(x) = l(x — 9)

. Smx
gz' _ P(M) — m+5 AY. - P(X) - Y _,
_ -1 ) = S5x + 3%
- b= X’ - Gx + 9 A~ ) x(x — 6Xx + 1)
0. - p(x) = R 20. - P(X) = \/2)(2 + x
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Solucions:

A= Do p =R -{0,2} M. - Do D =R

2.- Dow P = R = (-0, -3) = [-3, +o0) £2.- Dom ) =R -{%}

3.- Dw ) =R B. - Dom p = (A, +00)

b~ Dowg =R M- Dom =R

S5.- Dmg =R £5.- Dmg =R

6.- Dowp =R -{6} .- Dow) =R

.- Dow p = R = (~00,9] = (9, +00) A~ Dow p =R

?.- Dmp=R K. - Dow =R -{g}

4.- Dow ) =R -{3} . - Dow p =R -{-4,0,6}

.- Dmp =R 20. - Dom } = (00,47 0 [0, +00)
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